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2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011

m Pateikti skundai 114 | 101 | 121 | 123 | 111 | 184 | 277 | 237 | 215 | 183 | 240
Spauda 91 90 88 92 76 149 | 186 | 120 | 130 86 93
m Televizija 20 10 25 27 27 36 58 49 48 41 65
MW Radijas 2 1 1 0 1 1 2 1 1 1 2
M Internetas 1 0 a 2 1 6 36 65 61 67 88
m Kitos informavimo priemonés 0 0 7 2 6 2 10 10 12 4 11
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B Garbes ir orumo pazeidimal 5 5 q 11 13 30 23 20 24 12 34
B Privatumo pazeidimai 2 5 5 7 12 22 11 11 13 9 23
| Kiti paZzeidimai 32 42 54 28 10 23 | 1/0 | 86 | 202 | 10/ | 229
Menustatyta pazeidimy 9 17 44 57 49 | 121 48 44 34 35 51
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